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Dimension
cheville h1 hef thx
Dia. / Long. = mm = mm <mm
6/50 (4,0x 55) 6 4,5/ 20 60 35{-} 15{-}
6/70 (4,0x 70) 6 4,5/ 20 80 35{-} 35{-}
8/60 (6,0x 60) 8 6,0/ 25 70 50{-} 10{-}
8/80 (6,0x 80) 8 6,0/ 25 90 50 {70} 30 {10}
8/100 (6,0x100) 8 6,0/ 25 110 50 {70} 50 {30}
8/120 (6,0x120) 8 6,0/25 130 50 {70} 70 {50}
8/140 (6,0x140) 8 6,0/25 150 50 {70} 90 {70}
10/100 (7,0x100) 10 7,0/40 110 60 {80} 40 {20}
10/120 (7,0x120) 10 7,0/40 130 60 {80} 60 {40}
10/140 (7,0x140) 10 7,0/40 150 60 {80} 80 {60}
10/160 (7,0x160) 10 7,0/40 170 60 {80} 100 {80}
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METEOR

Tfix = épaisseur de
la piece a fixer

Hef = Profondeur
d'ancrage minimum

Si votre support est
du béton ceéllulaire
prendre en
considération les
chiffres entre {} .



